Constants:

ke = 1/4me, =8.98755 x 10°N-m? . C™2
€0 = 885x10°'?C?*/N.-m?
B, = 4w x1077T-m/A
= 1peeo
e = 1.60218x10°'°C
m,— = 9.10938 x 107> kg
m, = 1.67262x 10 *"kg
lu = 931.494MeV/c?
g = 98lm/s
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Electric Potential (static case!):
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Current & Resistance:
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R:% p=1/c
P =U - At =IAV  power
Reg =Ry + Ry + ... series
1/Req=1/R1 +1/Ro+ ... parallel

Z I, = Z Iy junction

Z AV =0 loop

closed path

Magnetism:
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Induction & Maxwell
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Vectors:

|F| = /F2 + F2 magnitude

F
0 = tan"" [—y:| direction
F.
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lt 8=a,&X+ay§+a.2 and B=b,X+b,§+b.2

1=1

|& x b| = |&]||b| sin6
X y Z
iSxb= az  ay az| = (ayby —azby) X+ (azby —azb.)§ + (azby
b by b.
Derived unit Symbol equivalent to
newton N kg-m/s?
joule ] kg:m?/s? =N-m
watt W J/s=m? kg/s>
coulomb C A-s
v W/A=m?kg/s> A
farad F C/V=A%s/m? kg
ohm Q V/A = m? kg/s> A2
tesla T Wb/m? =kg/s?-A
electron volt eV 1.6 x 107197
1T -m/A 1N/A?
1T -m? 1V-s
1N/C 1V/m
Right-hand rule #1

1. Point the fingers of your right hand along the direction of ¥.

2. Point your thumb in the direction of B.

3. The magnetic force on a + charge points out from the back of your hand.

Right-hand rule #2:

—aybg)Z

Point your right thumb along the wire in the direction of the current. Your fingers curl

around the direction of the magnetic field, which circulates around the wire.



